## APPENDIX B

Mayor Fred Eisenberger		al Expense	# of Attendees	ProRated Expense		
Big City Mayor's Caucus Ottawa						
Jan 27-29/19						
Transportation - Flight	\$	618.39				
Accommodation	\$	561.74				
Misc	\$	72.00				
Per Diem	\$	131.85		\$	1,383.98	
Rural Excellence Awards Banquet - Binbrook - Feb 9/19	\$	30.00	1	\$	30.00	
Meeting Expense - Valentinos - Mar 2/19	\$	56.00	2	\$	28.00	
Meeting Expense - Edgewater Manor - Mar 6/19	\$	123.27	2	\$	61.64	
Women of Distinction - YWCA - Mar 7/19	\$	200.00	2	\$	100.00	
Meeting Expense - Caro - Mar 21/19	\$	48.73	2	\$	24.37	
Meeting Expense - John Street Diner - Apr 4/19	\$	19.47	2	\$	9.74	
Meeting Expense - Capri Family Restaurant - Apr 16/19	\$	41.26	2	\$	20.63	
Meeting Expense - La Piazza Allegra - Apr 18/19	\$	248.15	16	\$	15.51	
Meeting Expense - The Hamilton Club - Apr 23/19	\$	89.34	2	\$	44.67	
Chief's Gala - Winona Vine Estates - Apr 25/19	\$	150.00	1	\$	150.00	
Meeting Expense - Charred - Apr 29/19	\$	94.86	3	\$	31.62	
Meeting Expense - La Piazza Allegra - May 7/19	\$	70.56	2	\$	35.28	
Community Prayer Breakfast - Liuna Station - May 7/19	\$	275.00	11	\$	25.00	
Great Lakes Economic Forum Cleveland						
May 7 - 8/19						
Transportation - Flight	\$	1,085.94				
Accommodation	\$	231.84				
Misc & Exchange	\$	156.12				
Per Diem	\$	80.00		\$	1,553.90	
Meeting Expense - The French - May 10/19	\$	105.92	4	\$	26.48	
Mayor's Breakfast - Hamilton Chamber of Comm - May 15/19	\$	248.60	4	\$	62.15	
Citizen of the Year - Winona Vine Estates - May 16/19	\$	135.60	2	\$	67.80	
FCM Annual Conf Trade Show / BCMC Quebec City						
May 29 - June 2/19						
Transportation - Flight	\$	1,102.72				
Transportation - Auto	\$	74.50				
Accommodation	\$	1,164.60				
Misc	\$	120.00				
Per Diem	\$	220.00		\$	2,681.82	
Meeting Expense - Mezcal - Jun 6/19	\$	89.01	3	\$	29.67	
Meeting Expense - Chuck's Roadhouse - Jun 21/19	\$	65.54	3	\$	21.85	
Mo-Ghana Delegation - Mayor's Office - Jun 21/19	\$	283.91	15	\$	18.93	
Meeting Expense - The Hamilton Club - Jul 7/19	\$	131.84	2	\$	65.92	

Mayor Fred Eisenberger cont.

Meeting Expense - La Spaghetti - Jul 9/19	\$	62.47	2	\$ 31.24
Winona Peach Festival Grand Ball - Jul 26/19	\$	110.00	2	\$ 55.00
Meeting Expense - La Prep - Aug/19	\$	49.72	15	\$ 3.32
Toronto Global Forum Toronto Sep 5 - 6/19 Accommodation Per Diem	\$ \$	351.38 15.00		\$ 366.38
Meeting Expense - La Piazza - Sep 16/19	\$	46.12	2	\$ 23.06
Meeting Expense - ETT Bread Bar - Sep 25/19	\$	58.67	2	\$ 29.34
Meeting Expense - Fortinos - Sep 26/19	\$	19.19	2	\$ 9.60
Meeting Expense - Steve's Open Kitchen - Oct 18/19	\$	32.00	2	\$ 16.00
Meeting Expense - Wimpy's Diner - Oct 28/19	\$	23.33	2	\$ 11.67
Meeting Expense - The Hamilton Club - Oct 28/19	\$	232.26	8	\$ 29.04
City Manager's Breakfast - Sheraton Hotel - Oct 29/19	\$	226.00	4	\$ 56.50
Meeting Expense - The French - Oct 31/19	\$	53.94	2	\$ 26.97
Meeting Expense - Ben Thanh Viet Thai - Nov 7/19	\$	23.74	2	\$ 11.87
Hope in the City Breakfast - Salvation Army - Nov 14/19	\$	50.00	1	\$ 50.00
Trade Mission with Economic Development Mumbai, Delhi, Ahmedabad Nov 15 - 26/19 Transportation - Flight Accommodation	\$ \$	3,046.54 2,128.66		
Misc Per Diem	\$ \$	111.88 447.31		\$ 5,734.39
Toll charges				\$ 311.48
Fuel charges				\$ 1,943.80
SOBI Membership				\$ 96.05
Parking				\$ 35.75
Total F. Eisenberger				\$ 15,330.42

Councillor Brad Clark		Total Expense	# of Attendees	ProRate	ed Expense
Mileage January - December, 2019				\$	1,193.76
	Total B. Clark			\$	1,193.76

Councillor Chad Collins		Total Expense		# of Attendees	tendees ProRated Expen	
Meeting Expense East End Food Centre January 8, 2019		\$	28.64	2	\$	14.32
Meeting Expense Glendale Pub March 8, 2019		\$	44.03	2	\$	22.02
Meeting Expense Dundurn Coach House April 17, 2019		\$	119.14	40	\$	2.98
American Planning Assoc. Conference San Francisco						
April 13 - 16, 2019 Transportation-Flight		\$	549.07			
Transportation-Auto		\$	140.24			
Accommodation		\$	1,462.73			
Registration		\$	1,003.70			
Misc.		\$	165.00			
Per Diem		\$	400.12			
					\$	3,720.86
Meeting Expense August 8 Dim Sum & Sushi October 16, 2019		\$	51.39	2	\$	25.70
Volunteer Appreciation Lunch Glendale Pub December 13, 2019		\$	191.38	9	\$	21.27
Mileage January - December 2019					\$	1,549.48
	Total C. Collins				\$	5,356.63

Councillor John-Paul Danko	Total Expense		# of Attendees	ProRa	ted Expense
Evening with Michelle Obama ticket - October 11, 2019	\$	350.00	1	\$	350.00
City Manager's Breakfast ticket	\$	56.50	1	\$	56.50
Truth and Trust in Work and Life ticket	\$	21.59	1	\$	21.59
UBER Costs	\$	375.63		\$	375.63
<u>Total J. Danko</u>				\$	803.72

Coucillor Jason Farr		Total Expense		# of Attendees	ProRa	ated Expense
C.Y.O Children's Fundraiser Gala Dinner Hamilton Convention Center February 28, 2019		\$	125.00	1	\$	125.00
City Age Conference Chicago October 23 - 25, 2019 Registration Transportation-Flight		\$ \$	401.51 315.25			
Transportation-Auto Accommodation Misc. & Exchange Per Diem		↓ \$ \$ \$	179.13 706.86 88.52 129.02		\$	1,820.29
Hamilton East Kiwanis Boys & Girls Club Nov 20/19		\$	270.00	2	\$	135.00
	Total J. Farr				\$	1,945.29

Councillor Lloyd Ferguson	То	tal Expense	# of Attendees	ProRa	ted Expense
Staff Retirement Party Castelli Ballroom Jan 18, 2019	\$	100.00	2	\$	50.00
Taste of Ancaster Marquis Gardens April 25, 2019	\$	50.00	1	\$	50.00
Chief's Gala Winona Vine Estates April 25, 2019	\$	150.00	1	\$	150.00
Meeting Expense Rousseau House May 9, 2019	\$	94.50	3	\$	31.50
Flamborough Open Copetown Woods Golf Club May 29, 2019	\$	50.00	1	\$	50.00
45th Anniversary Dinner/Dance Marquis Gardens May 31, 2019	\$	120.00	3	\$	40.00
13th Annual Phyllis Gretzky Memorial Golf Classic Willow Valley Golf & Country Club June 12, 2019	\$	199.00	1	\$	199.00
18th Annual Community Links Golf Tournament Knollwood Golf Club June 13, 2019	\$	150.00	1	\$	150.00
BBQ at the Bay Rotary Club of Hamilton August 9, 2019	\$	125.00	1	\$	125.00
Meeting Expense Vineyards Wine Bar Bistro August 18, 2019	\$	80.23	2	\$	40.12
Real McCoys Golf Tournament Copetown Woods September 5, 2019	\$	199.00	1	\$	199.00
AMO Conference Roma Meeting Ottawa					
August 18-20, 2019 Transportation-Flight	\$	687.32			
Transportation-Auto	φ \$	92.45			
Accommodation	\$	434.82			
Registration	\$	661.05			
Misc.	\$	174.51		<u>^</u>	0 470 47
Per Diem	<u>\$</u>	120.00		\$	2,170.15
Committee Chair Luncheon Hamilton Golf & Country Club December 20, 2019	\$	317.41	5	\$	63.49
Mileage January - December, 2019				\$	1,010.73
Total	L. Ferguson			\$	4,328.99

Councillor Tom Jackson	Total Expense		# of Attendees	ProRated Expense	
Bishop Crosby Charities Ticket - March 2, 2019	\$	140.00	2	\$	70.00
CNIB - Dining in the Dark Ticket - March 1, 2019	\$	75.00	1	\$	75.00
Trenholme - Valentine's Day Dance Ticket - February 9, 2019	\$	350.00	10	\$	35.00
2019	\$	320.00	2	\$	160.00
D-Day 75th Anniversary Gala Ticket - June 1, 2019	\$	350.00	2	\$	175.00
Women of Distinction Awards Ticket - March 7, 2019	\$	100.00	1	\$	100.00
C.Y.O. Children's Fundraiser Ticket - February 28, 2019	\$	125.00	1	\$	125.00
Paint The Town Red Ticket - May 2, 2019	\$	300.00	2	\$	150.00
Chief's GalaTicket - Crime Stoppers - April 25, 2019	\$	150.00	1	\$	150.00
Italian Heritage Awards Ticket - June 4, 2019	\$	80.00	1	\$	80.00
Good Shepherd Center - Harvest Dinner Ticket - October 17, 2019	\$	30.00	1	\$	30.00
Cancer Assistance Program - 25th Anniversary Gala Ticket	\$	250.00	2	\$	125.00
Staff Retirement ticket - September 19, 2019 - G. Maychak	\$	80.00	2	\$	40.00
2019	\$	50.00	1	\$	50.00
Rotary Club of Ancaster - Autumn Stroll Ticket - September 8, 2019	\$	220.00	2	\$	110.00
Staff Appreciation Breakfast January 28, 2019 - K. Moore	\$	20.03	2	\$	10.02
Business Meeting - Romano's - February 1, 2019	\$	90.58	2	\$	45.29
Business Meeting - The Brown Barrel - February 26, 2019	\$	66.62	2	\$	33.31
Staff Appreciation - The Brown Barrel - April 11, 2019 - M. Selkirk	\$	120.67	2	\$	60.34
Staff Appreciation - The End Zone - June 11, 2019 - M. Bowen	\$	47.38	2	\$	23.69
Business Meeting - The Capital Bar - April 15, 2019	\$	80.00	2	\$	40.00
Business Meeting - Donut Diner - April 25, 2019	\$	25.00	2	\$	12.50
Business Meeting - The Brown Barrell - May 7, 2019	\$	28.73	2	\$	14.37
Business Meeting - The Brown Barrell - May 17, 2019	\$	91.61	2	\$	45.81
Business Meeting - Donut Diner - May 22, 2019	\$	25.72	3	\$	8.57
Business Meeting - Ye Olde Squire - October 10, 2019	\$	57.88	2	\$	28.94
Business Meeting - Stoneroads - May 25, 2019	\$	63.75	2	\$	31.88
Business Meeting - Donut Diner - October 8, 2019	\$	22.54	2	\$	11.27
Business Meeting - The Brown Barrell - July 12, 2019	\$	63.47	2	\$	31.74
Business Meeting - State & Main - September 7, 2019	\$	80.95	2	\$	40.48
A Night To Remember Event Ticket - November 1, 2019	\$	130.00	2	\$	65.00
Business Meeting - Donut Diner - November 17, 2019	\$	30.00	2	\$	15.00
Business Meeting - Donut Diner - November 27, 2019	\$	21.00	2	\$	10.50
Business Meeting - La Piazza Allegra - Deember 16, 2019	\$	104.01	2	\$	52.01
Business Meeting - Honest Lawyer - December 18, 2019	\$	48.76	2	\$	24.38
Staff Retirement tickets - J. Spiler - November 1, 2019	\$	20.00	1	\$	20.00
Staff Retirement tickets - C. Alkerton - September 19, 2019	\$	25.00	1	\$	25.00
Staff Retirement tickets - D. Kinsella - May 13, 2019	\$	40.00	1	\$	40.00
Staff Retirement tickets - M White - May 9, 2019	\$	20.00	1	\$	20.00
Total T. Jackson				\$	2,185.06

Councillor Brenda Johnson	Total Expense		# of Attendees	ProRated Expense	
*2019 International Children's Winter Games Lake Placid, New York					
January 6 - 11, 2019	\$	138.80		\$	138.80
*2019 Canusa Games					
Flint, Michigan					
August 8 - 11, 2019	•	100.04			
Transportation Accomodation	\$	468.64 391.21			
Per Diems	э \$	343.20			
	<u> </u>	0.0120		\$	1,203.01
Staff Retirement - G. Maychak	\$	80.00	2	\$	40.00
Mileage - January - December 2019	\$	2,003.96		\$	2,003.96
Total B. Johnson *Note: Councillor Johnson attended as Council Representative				\$	3,385.77

\*Note: Councillor Johnson attended as Council Representative

Councillor Sam Merulla		Total Expense	# of Attendees	ProRa	ted Expense
*Grey Cup Attendance					
Calgary					
November 22 - 25, 2019					
Transportation-Flight	\$	1,154.43			
Transportation-Auto	\$	75.40			
Accommodation	\$	1,181.25			
Misc	\$	199.80			
Per Diem	\$	115.00		\$	2,725.88
	Total S. Merulla			\$	2,725.88

\* Note: Councillor Merulla attended as a representative of the Mayor

Councillor Nrinder Nann	Total Expense		# of Attendees	ProRat	ed Expense
Afro Canadian Caribbean Assoc Gala ticket	\$	100.00	1	\$	100.00
Transporation costs - January to December 2019	\$	753.56		\$	753.56
<u>T</u>	otal N. Nann			\$	853.56

Councillor Judi Partridge	Tota	al Expense	# of Attendees	ProRa	ated Expense
Women of Distinction Awards - March 7, 2019	\$	100.00	1	\$	100.00
Bob Kemp Hospice - Paint the Town Red - April 15, 2019	\$	150.00	1	\$	150.00
Meeting Expense - Symposium Café - May 9, 2019	\$	109.72	4	\$	27.43
2019 Children's Fund Golf Tournament - July 20, 2019	\$	50.00	2	\$	25.00
Women of Spirit Awards luncheon - August 29, 2019	\$	50.00	1	\$	50.00
Meeting Expense - Symposium Café - September 6, 2019	\$	148.28	5	\$	29.66
Meeting Expense - Symposium Café - October 10, 2019	\$	24.13	2	\$	12.07
Meeting Expense - Symposium Café - October 23, 2019	\$	58.79	2	\$	29.40
Meeting Expense - Symposium Café - December 18, 2019	\$	22.24	2	\$	11.12
Meeting Expense - Symposium Café - December 19, 2019	\$	110.52	4	\$	27.63
Transportation cost January - December 2019	\$	126.65		\$	126.65
Total J. Partridge				\$	588.96
FCM Board Meeting Penticton Mar 12-16/19 Transportation - Flight Transportation - Auto Accommodation Misc	\$ \$ \$	1,510.67 239.70 929.20 33.90			
Per Diem FCM Annual General Meeting Quebec City May 30 - June 2/19 Registration Transportation - Auto Accommodation Misc Per Diem	\$ \$ \$ \$ \$	61.27 999.13 1,031.14 1,232.84 87.40 200.00		\$	2,774.74 3,550.51
FCM Board Meeting Kitchener Sep 10-13/19 Transportation - Auto Accommodation Per Diem	\$ \$ \$	64.03 455.98 165.00		\$	685.01
FCM Board Meeting Ottawa Nov 26 - 29/19 Transportation - Auto Accommodation Misc. Per Diem	\$ \$ \$	532.44 1,116.44 130.52 185.00		\$	1,964.40

Councillor Esther Pauls	Total Expense		# of Attendees	ProRated Expense	
Jersey Nights - Options for Independent Living and Development - November 27, 2019	\$	269.00	4	\$	67.25
Indwell's Hope and Homes Banquet Ticket - May 29, 2019	\$	40.00	1	\$	40.00
Empowerment Squared Annual Celebration ticket- May 4, 2019	\$	50.00	1	\$	50.00
Paint the town Red ticket - May 2, 2019	\$	150.00	1	\$	150.00
Abruzzo in Festa - Juravinski Fundraising event ticket - March 23, 2019	\$	150.00	2	\$	75.00
Total E. Pauls				\$	382.25

Councillor Maria Pearson	Total Expense		# of Attendees	ProRated Expense	
Meeting Expenses - Country Style - June 10, 2019	\$	13.19	2	\$	6.60
Meeting Expenses - Papagayo Rest January 3, 2019	\$	107.54	3	\$	35.85
Serbian Hunting Club Annual Dinner & Dance Ticket - March 5, 2019	\$	90.00	2	\$	45.00
Hamilton Prayer Breakfast Ticket - April 30, 2019	\$	50.00	2	\$	25.00
Meeting Expenses - Country Style - July 10, 2019	\$	14.79	2	\$	7.40
Meeting Expenses - Sunnyside Grill - October 22, 2019	\$	35.32	2	\$	17.66
Meeting Expenses - Williams Café - December 11, 2019	\$	40.12	2	\$	20.06
Staff Retirement ticket - J. Spiler - November 1, 2019	\$	20.00	1	\$	20.00
Winona Peach Festival Ball - July 26, 2019	\$	110.00	2	\$	55.00
Stoney Creek Citizen of The Year Award Ticket - May 16, 2019	\$	120.00	2	\$	60.00
Croatian National Home Gala Ticket	\$	250.00	2	\$	125.00
Mileage - January to December 2019	\$	749.49		\$	749.19
Total M. Pearson				\$	1,166.76

Councillor Arlene Vanderbeek	Total Expense		# of Attendees	ProRated Expense	
Real McCoys Season Ticket	\$	114.77	24	\$	9.60
Hamilton Academy of Performing Arts Spring Ball - April 14, 2019	\$	75.00	1	\$	75.00
Community Council meeting - July 3, 2019	\$	238.66	12	\$	19.89
Community Council meeting - Dec 10, 2019	\$	281.20	12	\$	23.43
St. Joseph's Villa Foundation Gala ticket	\$	225.00	1	\$	225.00
Total A. Vanderbeek				\$	352.92

Councillor Terry Whitehead	Total Expense		# of Attendees	ProRated Expense	
Rygiel Homes Housing Corp Golf Tournament - July 17, 2019	\$	350.00	2	\$	175.00
Interval House Golf Tournament - June 5, 2019	\$	350.00	2	\$	175.00
Neighbour to Neighbour Centre Golf Tournament - August 15, 2019	\$	350.00	2	\$	175.00
Meeting Expense - Loft Lounge - February 28, 2019	\$	90.71	3	\$	30.25
Total T. Whitehead				\$	555.25

Councillor Maureen Wilson		Total Expense	# of Attendees	ProRated Expense
		-		-
	Total M. Wilson	-		-